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ENGLISH VERSION

Instruction : Figures on right side indicate the marks.

1 (A) Keshav mills Itd. had sold its all production by 15
Rs. 2,40,000 during the year 2015. Cost per unit of the
company was as follows:

Particular Amount per unit
Material Expense 40
Wages 30
Direct expense 10
Factory overhead expense : Fixed 4
Variable 6
Office overhead expense : Fixed 10
Selling overhead expense : Fixed 6
Variable 4
110
+ Profit 10
= Sales price 120
The production during 2015 was 2,000 units as 80% of
annual production capacity of the company. While the
estimate for the year 2016 is as follows
(1) The company will be Produce 100% of annual
production capacity during the year 2016.
(2) All the fixed expenses 10% while all variable
expenses will be increase by 20%.
(3) The rate profit on cost will be same as previous
yours. Prepare estimated cost sheet.
(B) Write short note On: Tender price b
OR

1 (A) What is cost accounting system? Explain and discuss 10
its characteristics.

(B) Discusses the merits and demerits of cost accounting 10
system.

2 (A) The transactions of material used in a company are 15
as follows :

Date Receipt Isses

Qty. units | Price Rs. Date qty. units
per unit

3-12-2015 4,000 5.00 1-1-2016 2,000

23-12-2015 500 4.00 15-2-2016 4,000

9-1-2016 6000 6.00 3-3-2016 2,500

13-3-2016 4500 5.00 20-3-2016 5,000

N-8905 | 5 [ Contd...




Prepare store ledger account showing material issue
prices using LIFO and FIFO method.

(B) The following figures are taken from the records of
Saloni company Itd. for the year 2015. Find out purchase.
Opening stock Rs. 50,000
Average stock Rs. 70,000
Material turnover ratio 4 times

OR

(A) Find out factory cost as per Rowan premium scheme,
Halsey premium scheme and piece rate system using
following information.

(1) Wages rate Rs. 50 per hour

(2) Time allowed (standard time) for making one dozen
nos. 25 hours

(3) Time taken for making 25 dozen - 500 hours

Cost of material Rs. 20,000 and factory overhead

expenses are charged by 200% of wages.

(B) The following information is received from personnel
dept. of Vinay ltd.

No. of workers as on beginning of ............coeeveene. 508
No. of workers as on end of 2016 ...............ceeenne 492
No. of workers resigned during the year ................. 08
No. of workers discharged during the year ............... ?
No. of workers replacement during the year........... 17

Find out No. of workers discharged during the .year if
worker turnover rate is 10% as per Flux method.

(A) Raj transport co. has been given a 40 km long route
(one side) to run a bus. The company has two buses.
Other details are as follows.

Cost of each DUS .....ooovviniiiieeeee e, 1,14,000

Scrape value after Estimated life of bus-10 years... 14,000

Insurance Yearly .......cccoooccoiiiiiiiciieeeee e 3%
Road tax of each bus yearly ........ccc.coovvvceiiieenieenn, 2.800
Garage rent for two buses monthly ............cccovvveenen. 1,800
repairs of each bus vearly .........ccoocoiiiiiiiiiiii 2,000
The driver's salary of each bus monthly ................... 1,500
The conductor's salary of each bus monthly ................. 900
Administration expense for two buses monthly .......... 8,800
Petrol and oil -per 100 Km. .......ccovvveeeriimeniiriiniieiiniiiivaeeas 250

The bus will make 4 round trip carrying on the average 40
passengers on each trip and runs on an average 25 days in
a month. Assuming 50% profit on takings (net rent income),
calculate: The bus force to be charged per KM for one side
from each passenger

10

10

15
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(B) What is 'operating cost'? Show in which industries it 5

can be applied?

OR

3 (A) A factory has three production departments A, B and 10
C while two service departments D and E. the figures
of overhead expenses for the month January 2016 as
follows, allocate among the departments

Rent taxes Rs. 5,000 | Electricity Rs. 200
Indirect wages Rs. 1,500 | Power RS. 1,500

Depreciation on Miscellaneous
machinery Rs. 10,000 | expense Rs 10,000

You are given additional information as under.
Departments Land Point Cost of | Power | Direct
occupied |of light machine H. P. | wages
Sq. feet Rs.

A 2,000 10 60,000 60 3,000
B 2,500 15 80,000 30 2,000
C 3,000 20 1,00,000 50 3,000
D 2,000 10 5,000 10 1,500
E 500 5 5,000 - 500
10

(B) Explain the various methods of Absorption and

Allocation if overhead expense.

4 (A) The product passes through two different processes 16
and thereafter it is transferred to finished stock account.
The following information is available for the month of
January 2016.
Particular Process— A |Process-B
Rs. Rs.
Units introduced 10,000 units 1,00,000 —~
Material 20,000 10,000
Wages - 4,000 8,000
Manufacturing expenses 6,000 5,000
Outputs (in units) 9,000 8,500
Normal wastage (of units) 5% 10%
Value of Normal wastage
(per 100 units in Rs.) 8 10
Prepare process Accounts and abnormal wastage Account
(B) Write short note on: Abnormal loss b
OR
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profits and financial profits.

4 (A) The figures relates to two job of productive business 10
are as follows
Particular Process —1 | Process — 2
Rs. Rs.
Units Introduced 5000 units 25,000 -
Direct material 5,000 2,500
Direct wages 2,500 3,000
Manufacturing expense 1,000 1,000
Normal wastage % of Units Introduced 5% 10%
Sale of normal wastage per 100 units 8 10
Actual Production in units 4,800 4,200
Prepare the process Accounts and abnormal wastage
account.
(B) What is job costing method? Explain its procedure. 10
5  The following information is given relates to contract of 20
a building. The contract price is Rs. 20, 00,000. Contractee
pays 80% of certified work by architect in cash.
Particular 2013 2014 2015
Material issued 2,40,000 | 2,90,000 1,68,000
Direct wages 2,20,000 | 3,10,000 2,20,000
Direct expenses 10,000 34,000 12,000
Indirect expenses 4,000 5,200 1,000
Plant issued 28,000 - -
Uncertified work 6,000 16,000 -
Material on site 4,000 10,000 16,000
Cash received from contractee 3,76,000 | 8,24,000 Balance
The value of plant on end of the year 2013, 2014 and 2015
were Rs. 22,400, Rs. 14,000 and Rs. 6,000 respectively.
Prepare contract account for three year transferring 2/3 profit
of cash to profit and loss account.
OR
b (A) State the essential features of cost audit. In what 10
respect is cost audit different from financial audit?
(B) Discuss the causes of difference between costing 10
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